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ANSWER ALL THE QUESTIONS ON THE ANSWER BOOKLET :cibilay! s & &y 5081 e it

PART 1: MULTIPLE CHOICE QUESTIONS. Answer all questions. {40marks)

1. The mede of the following set of data 4,9,3,7,5,6,7,8,7 is:- s AUi cutiladt (i yia
la 8 ['b 9 Ees % | d 6 |

2. flx)=3x+4 its derivative is

: it J:"(x) =337 +4 Jalis
- la. 6x T |b. && le. 16 |d. 9 ]

3. 8!Isequal to:
== == =z :L_,SJL“"'.-Sl
a 8(8-7) ]b. 8X7x6 ..|c 8x7 1&.8x7x6x5x4x3x2x1 ]

4. Simplify (3 — i) + (2. 3i)
(B—1) + (2 +3i) lauw
a. 5+ 2i b. 3-2i c.5—2i d. -2

5. Cos 120°is equal to

i ¢ 85 Cos 120° &af

2 -1 : 19 &
2. % b. - ¢ d.2

6. The standard deviation of ( 6,9,10,13,15,7) is

wtiladl o jlmall a1 6
[a 3 th 5 6. 2 [ d. 2.1
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7. Find C(5,2)
: _ C (5,2) Aalh 2a
S! 3] 51 o "'d
21(5-2)! b. (5-2)! ¢ ,I b J
8. Find the exact value of tan%r \
tan T ad an
1R
la. —2—43 [ b 2+v3 le. 2=v3 [d -1 .
» 3 cos2x
9. Simplify cosx~sinx .
cosz?c' m
Ii : - £0S X —=sSinx
| a. sinxcosx | b. cosx+sinx | c tanx d. sinxtanx
5T
10. = (x77)is :
vog sy L (=5
g (170) ,
la. 5x - [b. —5x | c. —5x~* | d. —5x2 i
11. The exact value of Cos 15° is:
g 1ol Cos 15° Ladh
7 & r Ve=v2 VB+V2 8 S5
a 3 b ¥ 0. d. Z_gx?
112 . If . man has 4 trousers and 6 shirts how many ways this man can go to his work by
dressing one shirt and one trouser.
= wased o1y JME e Alee Y ol dl Ja 5l L‘.,:_iuﬂ.qu)hn O S8 ‘Umé-;ﬂ‘.hj‘.)“4Lh_)(5-‘1LJS 131 =
?hbdb_}u{’ .b.b =
a. 10 { | Lb. 2 07 = | d. 24 |
'13. Sclve 3x* — 2x + 5 = 0, using quadratic formula R
3x2 —2x +5 = 0 Zea 3l Luuall alasidy Ll Usledt Ma
i T, T 4l T 2oy
| a. 5-_!-\/%1 b. \/1-5-1 e 1—'\/1~3— d. gi\fla’l
14. The mean of this set of data 15,14,18,14,17,19,20,17 is : s 400 il ilaslt Jass 2l
[ 134 To 6 [c. 19 A e N
15. a statement is a sentence which can be classified as :-105< Of 0% Lyd Lag (A Botalt
a. true b. false c. clearly true d. true or false without ambiguity.
- F faye R O aled 03 B s
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16. Probability of an event is: “Le daaa Jlaial
la. 0<P(E) < i__!ia. P(E) < 1 ¢. P(E)=2 d. P(E) =0
i % dels
i [x2dx Aad
@ D 5 240 o EA d @He
4 3 Sy 3

18. Question:

If sinf = 3/5 and cosf = 4/5 find sin 26

sin 20 2> 4l sin@ = 3/5 and cos@ = 4/5 VS 1y

24 7 31 z-
a. 'Eg b E C. 2_5': d. E
19. A statement of the form if p, then q is called:
s () 0l 1) 13 53 e
a. Implication b. Conjunction |c. Equivalence d. Condition
elamyl | Ly M o s o L3 s
~ 20. The exact value of f.I_‘lé sine75° is it &
- sine75 ° s
1 A
e f Jomue g Yori2 L B
A 4 2
PART 2: STRUCTURED QUESTIONS. Answer all the questions. (60 Marks)

21.find the median of 12, 17, 6, 9, 8, 9, 16, 15, 10,.

« 22. Find the area of a triangle whose sides are:

4cm, 3cm, Scm,
23. Calculate: 7P; 3 i

-

24. Evaluate [ (3t3 — t?)dt
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25.Show that: 1 + Sin2 0 = (Sin @ + Cos B) °.
1+ 8inz0=(Sin8+ CosB) 2 f

26.What is the gradient of the line 3x - 2y = 6.
3x-2y=6. aiwdl dueas

- 27.Find the shaded area given the side of the square is 21 cm. (rz = -273)

7

A

28.Find the value of f* x%dx

[2, x3dx Lk ol

29. There are 500 students in a school. if 30% of them had passed in their maths

test, how many of them had failed?
Fomead N 200 588 9005 9 lualy Hli sale cfadel (8 cpaalill 22 ¢fS 1) il 500 4 y3e (A

30.Evaluate: (3 +2/)(3 —20) - - ™

(3+2)(3-2) Aafany

31.1fa=3andb=-2 whatisthe value ot 42 + 3ab b2
a® +3ab — b? Aad ald 2= 3 =l s 1y

— -

32.Express ;ln 90° sin 30° as a sumor difference:
Aagi W Gy frgena 83 e 90° sin 30° 3l s

33. Wnte the complex number 2 + 2/ in polar form.
2 + 2 (a8 IS8y A oS ) saaf i)

-

34.If we throw a dice, find the probability of getting an even number.

fpna) 23 Jealall ¢y of JLa¥) 58 Lo (Aasd A ) 35 Gay 1Y

35. Evaluate:
x4+ x—6

Iim et , Al Gl
x->--3 x -4 3 i

END
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